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The figures in the margin indicate full marks
for the guestions

Give the correct answer from the following :
1x5=5
fa) Retrosynthetic arrow is used

f to cartry out the function of a
synthon

fiij to indicate the reverse of a
synthetic reaction

{iii) to the reverse of a real reaction

fivj None of the above
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(3)

the following compouyp ds

aich of
n WhiC qulplet in their NMR SPectrgs
have 3
; cH—C=CH: . 2. (@) Write down the synthons for the
( (Ll 13 following synthetic equivalents (any
two) : 1x2=2
() O
. ~pa.c=CH .
(i) (CHC=2 (i) N—H
0

|
- H_,A':_-O'CH ,—CH,—CH3
¢ (i) R—C=C—Br

(i) OJ:L
(0]

(b) Give one example of each of the
following types of dye based on
application to fibre : ex4=2

(i) Acid dye

o e dye which is also used in medicing 8
{U CI‘_\'Stal violet

(i) congo red

(ii) methyl orange

fiv) alizarin

(d) The word ‘tacticity’ is related to
f) physical property of a polymer ’ -
(i) thermal behaviour of a polymer (ii) Basic dye
fiii) stereochemistry of a polymer (iii) Direct dye

(i) use of a polymer (iv) Vat dye

fe) One alternative Green method for-“ ,.
organic synthesis is the use of

i) organic liquid s

(#) ionic liquid

(i) non-volatile solvent

(iv) organic solvent
14P—1100/1156

A(c) How will you differentiate the following
with the help of IR spectrum?

C1+1=2

() Aliphatic and aromatic C—H
stretching

(ii) Aldehyge and.carboxylic acid

( Continiell14p_1100/1156 ( Turn Over )
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«=-- CO YO

W=

TnsTalc

Z
retrosSyn! a
12003)

-

(4)

e is sotactiC and Syndlota
De-.".neers 4th suitable example, i
polyr?

2 How is it relate
what is E-f2ctoC dto “?e‘ :

o)
= mienCy Of a I'C&Cthl’l
SFoien

uniT—I

u mearn by FGI? Give
sFGlin retrosynthetic analysig

.. the synthesis of the fouowmg
-:;Jy_ca‘gna]ised compound.
thetic analy51s to determine the

*A synthetic equivalent may or may no
be zn intermediate of the synthesis
TM.” Justify with examples.

Using disconnection approach, outlir
the synthesis of the following molecul

- 5.

6.

(S)

UNIT—II

Answer the following questions : 1%x2=3

(a) Water cannot be used as solvent in IR
spectroscopy. Why?

Schematically show the NMR signals in
both low and high resolutions for the
following compound :

CHz;—CH,—CH,—NH,
Or

(b)

An organic compound having the molecular
formula C ,H4O gives a characteristic band at
275 nm (€ qpax 17) in its UV spectrum. Its IR
spectrum exhibits two important peaks at
2940 cm™'-2855 cm™! and 1715 cm™’. NMR
spectrum shows 825 (g 2H), 8212 (s 3H)
and § 1-07 (t, 3H). Assign a structural formula
to the compound. : bty 3 7

5. 3 I" J’“

(a) How many modes of fundamental
vibration are possible for the followm
molecule?
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 pemical Shift? V.V};Tt e
hat ljr expressing chemical shifts? 14y

its
or o
ou differentiat '
would S 2
How CH3"CO—TCH3 3
betweeSO,CHsCHz» using IR and yy |
CH3— E
sPeCUa?
ynit—III
L triglycerides and PhOSpho.
7, What y :s > Give example of each with
glycen
structure: .

Oor

fica

signiﬁcance n

lipid? What is iodine number?

UNIT—IV

8.
(any two?

(@) Chromogen
(b) Auxochrome
(c) Bathochrome
(d) Hypsochrome

14P—1100/1156

.. saponification value? What is the
What 1 determining the quality of

What do you mean by the following terms k-

(7))

9. Discuss the Preparation of phenolphthalein
Account for the colour changes occurring.
when phenolphthalein is used as indicator in
acid-base reaction, 1/2+1%=3

Or
Give the synthesis of the following dyes : 1x3=3
(@ Methyl orange \
(b) Alizarin

(c) Crystal violet

UNIT—V

i 10. Discuss the mechanism of a peroxide

initiated chain growth polymerization
process involving any vinyl polymer. 3
Or

What is Ziegler-Natta polymerization? How
many types of combinations are possible
taking head and tail of monomers? 1+2=3

Sketch  the structures of two synthetic

rubber. Mention their characteristics.l 2
- 14P—1 100/»11.5_6.", 3 ‘ ) f‘( Turn Over )
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(8 )

omer  sample  has  the '
l - \ .:\\ \ ALICH . ) '()ll(‘\\’l
. <eribution of molecular weight . Ny
welpht 3000 4000 100 00
PerogRiage 10 40 S0
What are the number- and Weight-gye
maleciar \\'{\{gh{ of the SR!’QPIE‘ of pOl\merS.n
C}r 2
What 1S @ I"I"H?\‘. Rlb“t‘rr’ Tﬂ i]](‘reast\
astity of natural rubber which modificagg, |
can be :“.u"-.:":"

UNIT—VI

e T A L R A S S AT IR MG
P 9 s i s

13. What are biodegradable plastics? Give 4§
:*—x.-u:::*i—s. \\'hy IS 1t used as g i

Or

Why are use of most of the organic solvents
not r:-f;:m-ggt m Green chemustry? Mention

four manve wayvs for replacement of
solvents 142

* e R
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